A – VISION 2030: FINANCE & INFRASTRUCTURE

Discussion Item: Committee Report

FINANCE

- 31. The Superintendent recommends and so moves the Board of Education of Sayreville to approve a withdrawal from Capital Reserve in the amount of \$419,234.02. The withdrawal of funds will be used for Turf Field Replacement and related Engineering Services at Sayreville War Memorial High School. Any funds not expended will be returned to Capital Reserve.
- 32. The Superintendent recommends and so moves the Board of Education of Sayreville to accept a proposal submitted by Shaw Sports Turf for Turf Field Replacement at Sayreville War Memorial High School through ESCNJ via the Shaw Sports Turf Field Direct purchasing program at cost of \$407,234.02.

SUPPORT SERVICES

33. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following transportation contracts contained in BID #2018-19-02 for school year 2018-19 and awarded to the lowest responsible bidder:

Route	School	# Of	Total Cost	Total Cost		
		Days	Per Diem	Per Annum		
Contract: Brow	vntown Bus Co. (BRN#3)					
18-MS 2	Sayreville Middle School	182	\$287.00	\$52,234.00		
21-UES 10	Samsel Upper Elementary	182	\$294.00	\$53,508.00		
23-UES 15	Samsel Upper Elementary	182	\$287.00	\$52,234.00		
25-UES 18	Samsel Upper Elementary	182	\$287.00	\$52,234.00		
Contract: Wehrle Bus Service, Inc. (WEH#5)						
15-UES 11	Samsel Upper Elementary	182	\$133.00	\$24,206.00		
15-W/BLU	Wilson School (Blue)	182	\$133.00	\$24,206.00		

B – VISION 2030: STUDENT ACHIEVEMENT

Discussion Item: Committee Report

CO-CURRICULUM

8. The Superintendent recommends and so moves the Board of Education of Sayreville to approve an orientation for parents of incoming Samsel Upper Elementary School students (from Arleth third-grade) on Wednesday, May 16, 2018, from 6:30 pm to 7:30 pm in the SUES cafeteria. This event will be held in conjunction with our monthly PTO meeting and will include a brief tour throughout the building for Arleth parents who are unable to attend the orientation on June 6, 2018 due to a scheduling conflict.

9. The Superintendent recommends and so moves the Board of Education of Sayreville to approve a Fourth-Grade Orientation for parents of incoming Samsel Upper Elementary School students on Wednesday, June 6, 2018, from 7:00 pm to 8:00 pm in the SUES gymnasium. This event will be held in conjunction with our monthly PTO meeting and will include a tour throughout the building for parents.

D – VISION 2030: PERSONNEL <u>Discussion Item: Committee Report</u>

Approval of Resignations

- 18. The Superintendent recommends and so moves the Board of Education of Sayreville to retroactively approve the resignation of Concetta Genovese, Bus Aide for the District, effective May 14, 2018.
- 19. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the resignation of Thomas Vilanti, Lunchroom/Playground Aide at Truman Elementary School, effective May 25, 2018.

Approval of Leave Requests and Modifications

20. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the leaves of absence and modifications for school year 2017-18 as listed below. *Any changes made to previous approvals are in bold type*.

Staff	Position	Department or School	Type of Leave of Absence	Dates
Feliciano Jr., Alfredo	Spanish Teacher	SMS	Disability	05/04/2018 through 06/30/2018

21. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the leaves of absence and modifications for school year 2018-19 as listed below. *Any changes made to previous approvals are in bold type.*

Staff	Position	Department or School	Type of Leave of Absence	Dates
Gadek, Natalia	Arleth Elementary School	Special Education Teacher	Maternity Childrearing	09/01/2018 through 01/01/2019

Approval of New Hires and Modifications

22. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the employment of the following personnel (Certificated) for school year 2018-19 at the salaries and assignments indicated below. *Any changes made to previous approvals are in bold type*.

Name	Location	Assignment	nment 2018-19 Salary Effective Dates		Track
Patierno, Margaret SMS Registered Nurse		Prorated \$44,811	09/01/2018 through	Tenure	
(B. remer)			(RN, Step 4)	06/30/2019	

23. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the employment of the following (Non-Certificated) personnel for school year 2017-18 at the salaries and assignments indicated below.

Name	Location	Assignment	# of Hours	# of Days	2017-18 Salary	Effective Dates
Vilanti, Thomas (C. Genovese)	District	Bus Aide	5.25	184	\$15.00 Hourly Annualized Salary Prorated \$14,490	05/29/2018 through 06/30/2018

24. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the employment of the following (Non-Certificated) personnel for school year 2018-19 at the salaries and assignments indicated below.

Name	Location	Assignment	# of Hours	# of Days	2018-19 Salary	Effective Dates
Vilanti, Thomas (C. Genovese)	District	Bus Aide	5.25	184	\$15.00 Hourly Annualized Salary Prorated \$14,490	09/01/2018 through 06/30/2019

Approval of Substitutes

25. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the employment of the following (Certificated) personnel for school years 2017-18 and 2018-19 at the salaries and assignments indicated below. *Any changes made to previous approvals are in bold type*.

Name	Position	Pay Rate	Effective Date
Shah, Snehal	Substitute Teacher	\$95 per day	May 16, 2018

26. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the employment of the support personnel to the (Non-Certified) substitute list for school years 2017-18 and 2018-19 as indicated below.

Fitzgerald, Gene Mancusi, Arthur Giles, Judy Schiavone, Michael Hernandez, Patricio Shah, Snehal

Kamal, Samreen

Approval of Staff for Summer Enrichment Program

27. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the appointment of personnel to work during the Summer Enrichment Program, to be held from July 2, 2018 through August 10, 2018, at the hourly rate, the number of hours and total compensation indicated in Attachment C.

RRL/mep